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L(10%) # — {84 5 7 #2 (differential equation, DE)% : y +2y =0 » 3 # #(solution) %
y=e"™ o Be™ >0 Mmega?

2.(10%) &4 x=cjcosdt+cysinds » #4174 {8 P #(initial value problem, IVP) : x +16x=0 >
/3 /4

X(—)=-2x(=)=1-
) ( ;)

3.(10%) A %-#k % 1k (separation of variables)#2 DE : gX — ¥
| x

4(10%) =P DE: y —10y +25y=0 o

5.(10%) = M8 & (vectors)& T G=i-3j+2k » b=—i+j+k > ¢=27+6]+9% » T 5|1
(1) b+2@-33) (2

5+EH

6. (15%) #84% Kirchhoff’s 2" law » & A G % T &7 4 L%(;Q+ Ri(t)=E(t) » %4 L & R 431

# & B (inductance) & M. Hi(resistance) » i(t) & & 42 R JEFS A & Jfi(current) o 3 —18 12 volt #4
itk L% E > TR A 0.5 henry » [AHL 4 10 ohms » K& i(r) » i(0)=0 -

#¢5~ : For a linear equation gX+P(x)y=f(x) HBAy=y.+y,  HPy, =Ce“fp(x)dx ,
X
= o PO Je [ P(x)dx

Vp S(x)dx o KT K 48 698 § A2k (equivalent easier way) o

7.(15%) (DA A1) Laplace transform  £{f(0)}= [e™ f(0)dt » w2 L{1} -

0, 0<r<3 L [=2546
2 f = o 3
Qm L{f()} for A1) {23 3 GV L {S2+4}
g = - winpy_ -l k -l s
;}iﬂ: . Slnkt—f {—S-ik—z} ’ COSkt—-.[ {S2+k2}

8.(20%) 1% F & #7 74 % (Gaussian elimination) 2, % #7- & %& 3§ 4 (Gauss-Jordan elimination) &4 45 [
& 0 RART )49 4214 % 4L B8 (problem of linear system) :

2X+6xy +x3 =7

X+ 2xy —x3 =1

Sx+7xy —4x3 =9




